N = 0l & At & M A

20169 = =0la LA ME=X
AN AHE =X
B MYUNE S (SYHSA/YY - ME)
S SXB2 BB EERED
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
At =X 19,435,079 17,167,773 2,267,306
= 5,214,834
Xl 2,641,396
= 2,110,648
s 9,468,201
MEXNE SH(sHMSa/AdY - AE) 6,971,005 6,885,616 85,389
= 2,348,543
Xl 500,000
< 898,602
s 3,223,860
=X32 &3 511,954 887,204 A 375,250
= 7,152
Xl 200,000
< 153,146
s 151,656
MEAY = 5,300 5,300 0
301 e A= 3,900 3,900 0
09 HALAHIZB &S 3,900 3,900 0
Ogg=sEsIt s & dEUH ot 3,900
-3 70,000& x30H 2,100
— S W 60,000& *x30H 1,800
307 gl2tol & 1,400 1,400 0
02 It M AHE L 1,400 1,400 0
OLY=AHIES ASXA 1,400,000& 1,400
t2 =2tel 5,600 5,100 500
206 M= Hl 5,600 5,100 500
01 =4l 5,600 5,100 500
OXZ At X 228 DEHE #
16,000 200 3,200
OXZ At X 2el& &l 7 4,000& *600%E 2,400
TS AZ2el 14,304 14,304 0
= 7,152
< 2,146
[ia 5,006
101 @14l 14,304 14,304 0
= 7,152
< 2,146
[ 5,006
04 JI12ZtHZ22HEE = 14,304 14,304 0
O=HEEMNY 14,304
—SA=sX2eR 14,304,000& =1 14,304
= 7,152
< 2,146
s 5,006
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
LIS Al A 6,750 6,500 250
206 M= Hl 6,750 6,500 250
01 M= 4l 6,750 6,500 250
OUSAIIHAL ATHLIR 7 & 15,0003 #4502 6,750
SAN= =4 380,000 240,000 140,000
Xl 200,000
< 51,000
i 129,000
401 Al HIZ 201 I 380,000 240,000 140,000
X 200,000
< 51,000
i 129,000
01 A& HI 376,904 238,272 138,632
OXE3 A A 376,904
—It2=28 MY 248,200,000 1 £ 248,200
Xl 120,000
< 36,000
e 92,200
—uesd =4 49,460,000 14 & 49,460
Xl 40,000
< 3,000
[ia 6,460
—dsltss =4 59,460,000 * 10 2 59,460
Xl 30,000
< 9,000
e 20,460
—Sgazgdes =4 19,784,000 * 100 2 19,784
Xl 10,000
< 3,000
s 6,784
03 Al 2 0HHI 3,096 1,728 1,368
OXSZAH A 3,096
— 228 AME 250,000,000& *0.72% 1,800
—uesd =4 50,000,000& =1.08% 540
—dE0ts=s =4 60,000,000& *0.90% 540
—Sgazgda=s &4 20,000,000 *1.08% 216
SMIATH(SMIZ) 100,000 116,000 A 16,000
< 100,000
401 AIEHI L 2CHEI 100,000 116,000 A 16,000
< 100,000
01 A& HI 99,100 115,164 A 16,064
OZHEx=AI 99,100
—SAAE Uszs Z8AY AAEA (1K)
100,000, 000& *6.07% 6,070
< 6,070
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—=SXAME Uss ZdMY
93,030,000 =14 2 93,030
= 93,030
03 A& 2 THHI 900 836 64
OZHIEx= A 900
—SXANL UsE ZEAY(1H2)
100,000, 0002 *0.90% 900
< 900
FES 21D 956,293 1,037,885 A 81,592
< 120,000
[ia 836,293
HA0E 238 =4 461,293 642,885 A 181,592
101 124 dl 76,493 71,595 4,898
4 D12t Z2XRHEES 76,493 71,595 4,898
OGStz & Bg2d = 22| AL 66,493
—Jlas 48,2403 x5 x200 48,240
- =54 48,2403 x5H 402 9,648
— 40 EE 57,888,000 *14% 8,105
— o= ¢ HdFEH S 100,000& x5H 500
Od8 R4 =X 2el ARAA 10,000
—Jles 48,2403 x 18 x150 7,236
— =54 48,2403 x 18«30 1,448
— 4 EE 8,684,000 x14% 1,216
— OI=Hl & etd & 100,000& »1H 100
201 LEr2 Y| 45,760 38,020 7,740
01 At 22l 11,800 9,100 2,700
OSHSEWHI RANE=(HFE S)
,500, 0003 *1CH 2,500
OsguxI ANE=(HHANY S)
400,000& +7CH 2,800
Os8 & sduAI |*FU  600,000&«10& 6,000
Otz Ze A2 (S23)I=|
250,000 »23| 500
02 =224l 33,960 28,920 5,040
O23d & telsz dIIe3
100,000& = 12& 1,200
OctedB& &IIRS 1,800,000& »12& 21,600
Octed8&d &.ot=& 2= 450,000& 123 5,400
OdtE 3 MIIHUAH =2
330,000& »12& 3,960
OGtE S & ZelAtR A BHIAAY =2
150,000& = 12& 1,800
206 M= Hl 10,720 10,050 670
01 24l 10,720 10,050 670
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01 A& HI 326,500 521,500 A 195,000
OZZZHAY 59,000
— g 600, 000& *15km 9,000
—Hxdg 500,000& *10km* 1071 & 50,000
OE2Y &N Z23& =4
20,0003 *1,000m" x4 4 & 80,000
OZZ, Zs4& ZdX AZ: 22
2,000,000 * 1101 &4 %23 44,000
OAJIX BsA X3 AN
100,000& * 1007 53| 50,000
OuER3TZ OfMatHX =4 80,000
—OrMig & ZRIATY 20,000& *4,000m’ 80,000
O ZgdRds U (2, HYZE 8)
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03 A& S THHI 720 720 0
O&EeY &N Z28& =4
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OZHIEXZAY 2,880
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— NS HASAEY 200,000,000& *0.72% 1,440
o x4 861,172 811,084 50,088
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SN MESXD

B AT S (SYHSEL/YLY - 4E)

Sl QAE MAD|E X8 EEREED
SA - BB B () - MM - BES Ol &t o San HmEET
AMu=ERSAE 580,800 383,272 197,528

= 290,400
< 87,120
s 203,280
402 2I2H X201 M 580,800 383,272 197,528
= 290,400
< 87,120
s 203,280
01 It AL E X 580,800 383,272 197,528
OZHIE= At 580,800
—UASAHES KA (L)
9,600,000 * 1304 2 124,800
= 62,400
< 18,720
[ia 43,680
—YUESHNE(EEEHE )R
24,000,000 *40H 2 96,000
= 48,000
< 14,400
s 33,600
— o= B XA 4,000,000& »24H 96,000
= 48,000
< 14,400
s 33,600
—guE NE.AXZAE
24,000,000& * 1100 £ 264,000
= 132,000
< 39,600
s 92,400
daE: ASKE 1,933,380 1,175,408 757,972
= 1,138,440
< 238,482
s 556,458
101 @14 Hl 202,800 94,000 108,800
= 81,120
< 36,504
s 85,176
04 JIZHZ22XREE S 202,800 94,000 108,800
OZHIEx= At 202,800
— MSAMMOITNDY ol 2ol
17,000, 000& »3H 51,000
= 20,400
< 9,180
s 21,420
— APQEA AIHEHX] A 2el
12,650,000& »12H 151,800
= 60,720
< 27,324
[ia 63,756
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201 fEt2E | 67,400 50,000 17,400
26,960
12,132
28,308

HH A

01 At ] 67,400 50,000 17,400

& 67,400
— AU AOIEH 28 6,740,000 «103] 67,400
26,960
12,132
28,308

MW

202 Oddl 20,000 20,000 0
8,000
3,600
8,400

MR

01 =LHOIHI 20,000 20,000 0

20,000

ol =
,000,000& =10 20,000
8,000
3,600
8,400

EURL Y

206 M= Hl 120,000 0 120,000
48,000
21,600
50,400

Mo H

01 M= dl 120,000 0 120,000
O=HIEX A 120,000
— AHA MAOIEN HBZ AP (24
10,000& *4,000= 40,000

16,000
7,200
16,800

MW

— AFQEAF AHALQ|

o

Je

H HEE XHPL (B

100, 000& »200kg 20,000
8,000
3,600
8,400

HH W

— AN A=Y T2

60,000,000& 60,000
24,000
10,800
25,200

Mo A

207 &1 OH & H| 80,000 162,790 AT2,790
32,000
14,400
33,600

HH A

80,000 162,790 AT2,790
80,000
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o 1m®
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EAREEAE= RPN
B AT S (SYHSEL/YLY - 4E)
Sl UM MADIE KR CEEEED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
— A MAOIF RN 24 30,000,000 *14] 30,000
= 12,000
S 5,400
[Ea 12,600
— APQEAMMAROIZ I M ASH
50,000, 000& 14 50,000
= 20,000
S 9,000
[Ea 21,000
402 QIZ2tXt=01 ™ 1,443,180 838,618 604,562
= 942,360
= 150,246
= 350,574
01 AN EAMLEE 1,443,180 838,618 604,562
O=HEX A 1,443,180
MR SMNCTI TN (AH)
6,434,500 x24 K 2= 154,428
- 77,214
S 23,164
= 54,050
— HDTHUHAI & (30H ) 32,132,000& 32,132
= 16,066
£ 4,820
2 11,246
—MERSMUCUTES(B2)
173,655,000 & *4H 2 694,620
- 463,080
S 69,462
[a 162,078
—dE=FEE(2014 22) 72,000,000& 72,000
= 36,000
= 10,800
= 25,200
—gUE MIBSERSUHEH(S2)
490,000,000 490,000
= 350,000
& 42,000
s 98,000
A SRSXE (XHA) 250,000 245,000 5,000
402 2I2tXt=01& 250,000 245,000 5,000
01 eIt HEEAMAEE 250,000 245,000 5,000
O=Mdoty & ditdl X3
2,000& *125,000% 250,000
gLe2el 98,691 64,759 33,932
= 60,798
< 11,368
T 26,525
402 212t Xt=01& 98,691 64,759 33,932
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FE: MENE S (s a/dY - &HE)
Sl UM MADIE KR (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 60,798
< 11,368
= 26,525
01 It H2 AL E X 98,691 64,759 33,932
O=HIEX ALY 98,691
SUR 22 22 (5ha) 2,584,000 2,584
= 1,292
< 388
e 904
— A g AX 2 (2ha) 8,000,000 8,000
= 4,000
< 1,200
s 2,800
— S LR E LI (2ha) 907,000& 907
= 706
< 60
i 141
— Y= =4 (16ha) 67,200,000 67,200
= 44,800
< 6,720
i 15,680
—gag=z AR 2,000,000 *10km 20,000
= 10,000
< 3,000
i 7,000
6RO B X R E S 900,000 0 900,000
2 450,000
< 63,000
s 387,000
101 @144 dl 30,000 0 30,000
= 15,000
< 2,100
s 12,900
04 JIZHHZ2XREES 30,000 0 30,000
OZHIEx= At 30,000
— A E 2HolAy| 30,000,000& 30,000
= 15,000
< 2,100
e 12,900
201 ¢er24] 7,000 0 7,000
= 3,500
< 490
s 3,010
01 At 2t 2l 7,000 0 7,000
OIHIE= At 7,000
—ANE2ILESL0HAHE 7,000,000& 7,000
= 3,500
= 490
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3,010

202 Oddl 3,000 0 3,000
1,500
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1,290

MR

]| 3,000 0 3,000
BEMY 3,000
— A At E AIE AL 3,000,000 3,000
1,500

210
1,290

HH A

207 & 10K & H| 60,000 0 60,000
30,000
4,200
25,800

HH A

60,000 0 60,000
60,000
30,000,000 =14l 30,000
15,000
2,100
12,900
— el SH2ZE 49 30,000,000& » 14| 30,000
15,000
2,100
12,900
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0io
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U AT

401 AIEBIZ 2 THBI 800,000 0 800,000

400,000
56,000
344,000

Mo A

01 A€ HI 800,000 0 800,000
O=HIEX A 800,000
—6xtat P X+ 2= 800,000,000& » 14! 800,000

400,000
56,000
344,000

HH

SMHolEX& 29,500 28,350 1,150
13,500
4,800
11,200

Mo A

ZMOIEIS K& 28,000 28,350 A 350
12,000
4,800
11,200

Mo R

402 212t A= 01 & 28,000 28,000 0
12,000
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11,200

Mo R
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S 28,000 28,000 0
& 28,000

2ol ESAY 2,800,000 «10CH 28,000
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4,800
11,200
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SHS 22 1,500 0 1,500
1,500
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201 Zer24l 1,500 0 1,500
1,500

H

01 AF22t2l bl 1,500 0 1,500
O=1ExAY 1,500
—SNHE 3222 1,500,000& * 14! 1,500
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H

A MHIASE 14,251 14,390 A 139
7,125
2,138
4,088

HH A

METHHZ2LIEHE 14,251 14,390 A 139
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2,138
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HH W

101 Q124 H] 14,251 14,390 A 139
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2,138
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UL RIY

sSE= 14,251 14,390 2139
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90,000
210,000

Mo A

01 A& HI 596,220 200,000 396,220
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91,949

9,542

91,949

9,542
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OgUSR &3YH AMXA 46,1608 +1,87%a
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Sl NERY DB S (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OX Sl H AL 809,952
— L&A (2.0km) 408,835,000 408,835
X 306,244
< 65,624
s 36,967
— 2 A= (2.0km) 250,408,000& 250,408
Xl 188,704
< 40,436
[ia 21,268
— AT A EIHEF(1. 1km) 63,920,000 63,920
X 49,540
< 10,616
s 3,764
—2HA T AAEHEL(2.0km)
437,492 ,000& %3.94% 17,238
—ZdAdT AALEHEL(2.0km)
269,576,000& *4.33% 11,673
—YERIMY AANEAHEA (1. 1km)
70,772,000& *5.93% 4,197
— AFE A HHI(1.0km) 10,040, 000& 10,040
Xl 7,028
< 1,506
s 1,506
— 24 & 24 (10km) 40,788,000 40,788
X 31,500
S 6,750
s 2,538
—YEEx AAEHEA(10km)
45,000,000 *6.34% 2,853
02 Zteldl 17,200 17,203 A3
OX Sl A AL 17,200
— L&A (2.0km) 437,492 ,000& x1.89% 8,269
— & (2.0km) 269,576,000& *2.06% 5,554
— P ZIHEE(1.0km) 70,772,000& %2.85% 2,018
— 24 & 2 4= (10km) 45,000,000 *3.02% 1,359
03 Al = THHI 5,728 5,694 34
OXNE3 A A 5,728
— A A A (2.0km) 437,492 ,000& x0.72% 3,150
— QS PEINZ(1.0km) 70,772,000 *0.90% 637
— & A& (2.0km) 269,576,000& *0.72% 1,941
AFS TH o Ol & 250,944 296,283 A 45,339
= 39,040
< 11,712
s 200,192
101 14 Hl 46,338 46,338 0
= 32,436
< 9,731
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— APAEHE Z O 1,930,750 4 6 & 46,338
= 32,436
< 9,731
e 4,171
201 LBH2E| 8,400 8,400
= 5,880
= 1,764
s 756
01 At 22l 8,400 8,400
OZHIEx= At 8,400
— AFALER S ol 2 e XE2FXH(1CH)
700,000& x6 & 4,200
= 2,940
< 882
s 378
—MAIEHEF WYY HESFUH
450,000 x6 & 2,700
= 1,890
= 567
i 243
— MALEHE Z O g ot -
200,000& x4 H 800
= 560
= 168
= 72
— MALEHE E M E S = s (Hle, ot
o s) 700,000& » 14! 700
= 490
< 147
s 63
301 L2 Az 1,034 1,034
= 724
< 217
[ia 93
09 EAEHIE &S 1,034 1,034
O=HIEZ ALY 1,034
— SAEHE E O 2 S WSOl 258,500 «4H 1,034
= 724
< 217
s 93
308 XXIEHHSOIA 195,172 240,511
07 XXM RE= 195,172 240,511
O=HIEXZ ALY 195,172
— H 22 & (3km) 52,315,000& 52,315
— APEHEH (600 &) 135,000, 000& 135,000
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— AP AR EFE A EOH(40HA) 1,414,000 1,414
— AP X B (2000 ) 378,000 378
— AP EFL A EIH(6IHA) 2,115,000 2,115
— At A A (2000 2) 800,000& 800
A EINE-AZEOHEALS 42,876 42,816 60
= 21,438
< 6,432
s 15,006
101 @124 dl 41,876 41,816 60
= 21,438
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s 14,006
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—ME2Z0LA 13,786,000& »2H 27,572
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e 9,000
—=ZHMEXZ A 14,304,000& »1H 14,304
= 7,152
< 2,146
s 5,006
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Y. B9 (3H) - HEAMY - BES o AF o San H D2
Bl &9 2el (XA 132,656 95,978 36,678
101 @121l 70,374 44,018 26,356
04 J|I2ZtH2E2XNEE S 70,374 44,018 26,356

OMEl= &Il AFH 13,399

—-JI=23 48,2403 *2H x100 9,648
—FF34 48,2403 x2H 20 1,930
— 4028 11,578,000& *14% 1,621
—22=5 100, 000& *2H x 13| 200
OMEl= MZ=&HY R2AA 32,997
—-J|I=22 48,2403 x5H 100 24,120
—F54 48,2403 x5 20 4,824
—4HEE 28,944,000 *14% 4,053
Obtatsorgip] OF2t=2 QI ALA 23,978
—-JI=23 48,2403 x2H x183 17,656
—FF5H 48,2403 x2H %35 3,377
— 4 EE 21,033,000 *14% 2,945
201 LEt2 A Y| 49,962 37,940 12,022
01 At 22l Yl 18,030 12,370 5,660

OLNE=AD| LR 180,000 x 1CH*12& 2,160

OZct=EAD EH 2¢ 250,000 *4 5 23] 2,000

O&=x=I| Xt 50,0002 *1CHx12& 600

Oodldiol & xt 50,000& *1CH*x12& 600

ougt M= sz =+ 25,000& *3&+103] 750

O3zt&a 2e 88 #+¢ 25,000& 55 x103] 1,250

oMgIssE #¢ 1,950& *6000H 1,170

O=adl&ddt X 2 20,000& *15& 300

OHz=&gE A25 7Y 100,000& *83] 800

O&EFRE M 300,000& 53] 1,500

OMEI=ME Mg #*¢ 5,000& *x20& *303] 3,000

OMNEf=x ROAHAIAE S9H|

150,000 & *20H A~ x 128 3,600
OMNEHls 224 (B2LRE) 2822 ¢
150,000& *23] 300
02 3524l 31,932 25,570 6,362

OMHEH= ®IIe23 1,800,000& x12& 21,600

Oa== S8 FHAaH| 300,000& *13] 300

O8gxEHAL =2 13,000& *100ke 1,300

OSMIMI SFUH 1,866& x1002| E1*x203] 3,732
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206 T2 HI 6,500 6,500 0
01 & bl 6,500 6,500 0
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OMEZ S 2N %8 7Y
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OMEl= A W=0WHl 200,000 x2H *23| 800
405 THobH S| 5,020 6,720 21,700
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OHMsIl 7 610,000& »2CH 1,220
Oul=J =< 450,000& =4 H 1,800
Odxls 7 500,000& =4 CH 2,000
SAANE 2 22l (XHH) 26,000 151,905 A 125,905
201 £B-2dH| 22,400 21,000 1,400
01 At 22l 1,400 0 1,400
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02 2=2ZHl 21,000 21,000 0
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= 42,500
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2A: M =X
Mo ME - BANOR AXE MUZMH(SUMBSL/UY . ME)
CHol AHEOls B YRS CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 Al&H| 10,000 0 10,000
O#HH &yl 5,000,000& *x2J4 A~ 10,000
A0 23H(REAN) 1,662,292 1,475,802 186,490
101 21 214| 1,584,652 1,448,742 135,910
04 JIZtHIZ22XNSE S 1,584,652 1,448,742 135,910
Obtt=2Z A& AE 1,584,652
-Jl= 48,2403 x130H 183 1,147,630
- =54 48,2403 x130H 35 219,492
— BrE G 50,000& *11H «7& 3,850
—xASE 50,000& *12H x7& 4,200
—SHANSIHASE 30,000& *43Y 7€ 9,030
—AEE = 1,431,781,600& *14% 200,450
201 2yt 2 Y| 74,640 24,060 50,580
01 At 22l ] 74,640 24,060 50,580
ONZZAIE SFU 2,000 x130¥ » 183 47,580
ONMSZAE S MAE2AHI SZHEES
10,0002 *300H 3,000
O A22X A M 7,000 *5000H 3,500
OdMEXHN 49 HH(SH) 50,0002 10004 5,000
OltE X4 20 HB(=2H)
5,000& *1,0000H 5,000
ONMEESXUHH g M 20,000& = 1000H 2,000
Odt2 XA Mo M & 1,000 *1,0000H 1,000
Odt2 A&l 223X 24H|
7,000 x6H *180 7,560
203 ¥ R =&t 3,000 3,000 0
03 Al =R 2= Y| 3,000 3,000 0
Out20 e 28 3,000,000& 3,000
A= 0 25t 510,495 478,995 31,500
= 204,198
= 91,889
= 214,408
101 2124 4| 510,495 478,995 31,500
= 204,198
= 91,889
= 214,408
04 JIZtHI2E2XNSE 510,495 478,995 31,500
O=ZHEXAY 510,495
—MEF2UHYXSH(60H) 436,500,000& 436,500
= 174,600
= 78,570
= 183,330
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HE: ME -

ME| - BEMOR S MAUXH(SMALM/ALY - oE)
el MESls BB (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—AMEMSUHHLXSIH 2EE2(60H)
72,495,000 72,495
= 28,998
o=t 13,049
= 30,448
—MENMNSH LRSI ZELE(6Y)
1,500,000& 1,500
= 600
= 270
= 630
MEXG L XSEHIO SEMHIH(XA) 76,700 73,700 3,000
201 gBt2A | 64,700 64,700 0
01 AP 22| H| 64,700 64,700 0
OBNER02ZAIAIAE 299 20,000,000& x1 20,000
Odr= 8RS SFH| 3,000,000 =2CH 6,000
ONt=dstxeg & XeEd A28 2
525,000 =8CH 4,200
OMESZAHAN Kgts 2 80,000& *150H 12,000
Ot 2 AR Sotg 2L 150,000& 150" 22,500
401 Al HI L E0HHI 12,000 9,000 3,000
01 A& H| 12,000 9,000 3,000
OKX=2012EAI2102F EHl 4,000,000 =34 A 12,000
MEXF L XFHEYIC &S 622,017 611,562 10,455
= 186,412
= 83,886
= 351,719
201 Bt 69,270 69,270 0
= 27,708
o= 12,469
= 29,093
01 AP 22| H| 53,410 53,410 0
O=2HExZAY 53,410
— MEXF 2AHI(916H) 5,495,000& 5,495
= 2,198
= 989
= 2,308
—MENMSXSIH 222 (599H)
23,600,000 23,600
2 9.440
o=t 4,248
= 9,912
—MESTES I AXH(50) 20,000,000 20,000
= 8,000
& 3,600
= 8,400
—METEESSIE AX F2HI(5U)
4,315,000 4,315

- 22 -




2N
X ZH -
L= B

el

-
=1

0% >
M & ov
mr oo >
o O

o

10

Hu

e

]

o

=z

o

M

0x

Ot

o

%

02

1>

=z

~

0o

Q

Qe
oo
02
2
i
A=

>

rh

SN P SA(EN) - MBAY - BES

0l &t o

=

i
2

=5
&=

A
H0
L 0R

O W

P
>
Q

[2tRIAIAE SAHI(1220H)

15,860,000&

|
rx
M
0
>

Mo

Mo

1

1
15

, 726

7

,812
,860
,860

860
344
855
661

15,860

202 o4 Hl

Mo

,760
,904

857

,999

4,960

A 200

4,760,000

HH W

4
4

4
1

1

,760
,760

,760
,904

857

,999

4,960

A 200

308 MXIEHMSOIH

155

,987

172,272

N 16,285

o
N
>
Pl
a
=
Y
il
o
oy

155

,987

S
0e
paal

O O
=
H
FA
> =

oo

|
rx
M
™
tol
o
J
£l

3,937,000&

162,050
3,937

3,937

172,272

A 16,285

401 AIEBIZ 2 THBI

Mo A

314,400
125,760

56,592
132,048

270,860

43,540

01 A€ HI

o 0| 2t
T e o

> >

[9t0iet X 22(30)
6,000,000&

MR

— MEAFIAIE EXI(2HA)

306, 182,000&

EUNC R

StAlE EX

308,000,000& *0.72%

312,182
312,182

6,000

2,400
1,080
2,520

306, 182

123,360
55,512
127,310

2,218
2,218
2,218

268,953

1,907

43,229

311

405 At&tFE =H|

oW

77,600

31,040
13,968

94,200

A 16,600

_23_



2N
X ZH -
L= B

el

<
[

>0z
M & ov
rr roe >

oY
]
00 1]
o |0
un
&MY

=

o

3

=z
i
P
0x

OF
o
%
02
1>
=z
~
0o
Q
[P
i

= A

CHE - EI(SA) - NRAY - B S

Off &t 24

=
i
2

HJ

32,592

3t & (BOAIE)

E28I| A (40H)

23,400,000&

MW

3,200, 000&

MW

51,000,000 = 1CH

Mo R

77,600
77,600

23,400
9,360
4,212
9,828
3,200
1,280

576
1,344

51,000

20,400
9,180

21,420

94,200

A 16,600

Mo A

80,000
40,000
12,000
28,000

742,000

A 662,000

401 AIEHIZ 2 I

A

80,000
40,000
12,000
28,000

742,000

A 662,000

01 A& dl

03 AlE 2 HHI
OXNSa AN

31,712,000& *2.5km

Mo =

80,000, 000& *0.90%

79,280
79,280
79,280

40,000
12,000
27,280

720
720
720

725,970

4,410

A 646,690

A 3,690

o
H
fol

HH A

208,198
84,914
20,914

102,370

212,454

AN 4,256

S5 22 (XHA)

12,000

12,000

401 AIEHIZ 2 I

12,000

12,000

4,000,000& =32

12,000
12,000

12,000

Mo

154,629
84,914
20,914
48,801

200,454

N45,825

H

108,424
61,398

148,234

A 39,810

_24_




A ME =X
Mo ME - BANOR AXE MUZMH(SUMBSL/UY . ME)
el MElEs (el @2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 14,108
s 32,918
4 D12t Z2 RS2+ 108,424 148,234 A 39,810
O=HIEXAY 108,424
— NS O EYRC
72,494 ,000& = 10H & 72,494
o 36,247
< 10,874
2 25,373
—AUSTHASY DASKHAS
35,930,000 =104 & 35,930
= 25,151
< 3,234
s 7,545
201 Let24d] 23,000 30,924 AT,924
= 11,500
= 3,450
s 8,050
01 AL 2l 23,000 30,924 AT,924
O=HI2 XA 23,000
—MEEHE LMY 29
23,000,000& 23,000
= 11,500
< 3,450
e 8,050
401 Al B2 28I 21,205 15,750 5,455
= 11,016
= 3,056
s 7,133
01 A& HI 21,205 15,750 5,455
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& 51,900
= 118,610
— 92 M 1A (100ha) 114,504,000 114,504
= 57,667
=} 17,300
= 39,537
02 22l 25,916 33,897 ANT7,981
OZHIEXZAY 25,916
— = JIRIIAFS 22| (900ha) 25,916,000 25,916
03 A& £ HH| 10,400 9,154 1,246
OZHIEZANY 10,400
— =J} PRI ALY (900ha) 6,098,000& 6,098
— I LFR IR I A (100ha) 981,000& 981
— X2 Xl AFE= 22| (400ha) 3,321,000& 3,321
BHEH2tE S A A& 158,194 95,767 62,427
= 111,694
& 13,950
= 32,550
301 et A= 3,194 2,910 284
= 3,194
11 JIEtE A2 3,194 2,910 284
OZHIEXZAY 3,194
— SISO FOAS Z A2 (26ha)
3,194,000 3,194
= 3,194
402 SI2tXHE0| & 155,000 92,857 62,143
= 108,500
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SN MESXD
Hu: MY2slE HE(SSUBY /DY)
ol APRITERONE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 8,600 8,600 0
OXiclatselz2 222 WA 800& *6, 2500H 5,000
OXiclarsdd CHUHE AIREESRL(SAS
X s) 300,000& »12& 3,600
02 =224l 7,500 7,500 0
OXeclatsel2 oHLiME &2 3 (20KW)
600,000& »12& 7,200
OXielatsdld et HE X HARZ(26KW
) 300,000& =13 300
401 AIEHI L 2 CHYI 249,000 95,500 153,500
01 A& HI 249,000 95,500 153,500
OXelitsd 2 S2dE HIANEESAY
22,000,000 » 14! 22,000
OXclttEd 2 S2dH SMUE2AY
32,000,000& » 14l 32,000
OXelgt=edlz =33 25,000,000& 25,000
OXlel&t etz Zl 2,500,000 *10km 25,000
Ozt s&t2 Hl 10,000,000& «2H £~ 20,000
OS4&Z QHLH B 2,000,000 «5J4 & 10,000
Oostz = EHII(SY)
5,000,000 » 110 & 55,000
OltRE MLEEZ HEAY
50,000,000 14 & 50,000
OXlelst=d & A2 A
10,000,000 * 174 2 10,000
405 TtobF S| 1,200 0 1,200
01 AL EFHS 1,200 0 1,200
OXiclatselZ HE2Y
200,000& *6H 1,200
ATAUAT JhE (BB D #H) 2,923,000 46,200 2,876,800
= 700,000
Xl 557,000
= 281,000
s 1,385,000
ARAON AT JIBEE A 2,923,000 46,200 2,876,800
= 700,000
X 557,000
< 281,000
s 1,385,000
AFAEIOL A XIA (KEA) 15,000 0 15,000
307 gl2tol & 15,000 0 15,000
04 DIZHHALALSE E X 15,000 0 15,000
OA4tardiol A XI& 15,000, 000& * 14! 15,000
SHAER RN (XEA) 578,000 0 578,000
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SN A =T
XEH: AbAOI

MAUAL JHE (YIS SHH/UBEAH)
Chel: AFAMAI DIBERH (SH9: &)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
201 Le-2d| 82,000 0 82,000
01 At 22l 72,000 0 72,000
O«& =R 2OOole 24 A4E
6,000,000& » 14! 6,000
Ot =R S22 2XE 4,000,000 14 4,000
Ottar=n 210 g2 1,000,000 & 2004 & 20,000
OFH &3 s &It 8AMNEES M
3,000,000& *43] 12,000
Ot =R g8 JI8E S M
10,000& =1,000H 10,000
Ot =R 20 2¢ 10,000, 000& 14! 10,000
O«ta=H EHOIX ZH & 29
10,000, 000& 14! 10,000
03 A2 Z Hl 10,000 0 10,000
Oue=el sa=ExH 28 € ME2ZA =X
5,000,000& »23| 10,000
301 L2 A F 6,000 0 6,000
09 HALAHIE& S 6,000 0 6,000
OMASR HEX WY L F3s 4K
24 100,000& » 12K x53| 6,000
307 glz2tol & 490,000 0 490,000
04 DI2FHALALSE E X 490,000 0 490,000
O4ta=H K& 490,000,000 =14l 490,000
AN AT =X 134,000 46,200 87,800
201 Let2d] 21,000 40,000 A 19,000
01 At 22l 11,000 40,000 A 29,000
Ottt AT SE2EZ ME 10,000& 5005 5,000
OMMAUAT M2OF 28 K28
300,000& x5 +43] 6,000
03 A2 Z Hl 10,000 0 10,000
OUALZ I A2 =& A
5,000,000& »23| 10,000
202 Odl 13,000 4,200 8,800
01 = LHA YI 3,000 4,200 A 1,200
O3UAAZ AKX A& 100,000& *3H *103] 3,000
03 22 S R0 bl 10,000 0 10,000
OZRQHAZ MK 28t
2,500,000& 2% x23| 10,000
401 Al B2 2B 100,000 0 100,000
04 S AL2tE Al & HI 100,000 0 100,000
oditLl 2€& 24 100,000, 000& 100,000
AHra APUSIEHX] Rd ALY 1,400,000 0 1,400,000
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SN A =T
XEH: AbAOI

AP AL Jf X (LEt2 2SN /UB )
Chel: AFAMAI DIBERH (SH9: &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 700,000
= 210,000
= 490,000
401 AlEHIZL £ 0HY| 1,400,000 0 1,400,000
= 700,000
= 210,000
= 490,000
01 Al&H| 1,394,960 0 1,394,960
O32HEBEZAY 1,394,960
— APQEA QA XM 1,394,960,000& =14l 1,394,960
= 700,000
= 210,000
= 484,960
03 AlE 201 Y| 5,040 0 5,040
O2HEBZAY 5,040
AN TR XA
1,400,000, 000& 0. 36% 5,040
HEA &gl dBAE AES XN 436,000 0 436,000
Xl 305,000
= 39,000
= 92,000
202 044l 1,500 0 1,500
01 2L Y| 1,500 0 1,500
OXESHLY 1,500
—322& 2 100,000& =15 1,500
403 XX SHHS K20 & 434,500 0 434,500
N 305,000
& 39,000
= 90,500
02 2I|2SOUesA=2=EU & ASE Y 434,500 0 434,500
OXEE AHALY 434,500
—U2A2 OIFHIOIEH LAY (2XHE)
434,500,000 * 1Al 434,500
Xl 305,000
& 39,000
= 90,500
X< =9 OF0ICI A 360,000 0 360,000
Xl 252,000
= 32,000
= 76,000
202 044 1,500 0 1,500
01 2Ll 1,500 0 1,500
OXNEZHANZ 1,500
— 223 2UWHHbI 100,000& 15 1,500
401 Al HI L 2 0HHI 358,500 0 358,500




SN A =T
XEH: AbAOI

MAAT I (YBS ST/
CHelr At AAT DB Y (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 252,000
= 32,000
= 74,500
01 A& HI 355,908 0 355,908
OXNSE3 A A 355,908
—Jl2H8 & H2AEH Y
60,000,000& =14 60,000
Xl 44,864
< 5,368
s 9,768
—dEA MOL FA2S W Z2HE (1K
Z) 295,908,000& » 14! 295,908
X 207,136
< 26,632
s 62,140
03 Al 2 THHI 2,592 0 2,592
OXS3 A AL 2,592
— &AM ADL GAM2E HE Z2HE
360,000,000& *0.72% 2,592
HY2FZ Y (M=) (IIEH/IIEL) 84,036 91,468 AT ,432
JlE &3l 84,036 91,468 AT ,432
JlE&l 84,036 91,468 AT,432
201 £B-2dH| 43,926 47,938 24,012
01 At 22l 43,926 47,938 N4,012
OFNEA 1,831,000& »21H 38,451
O=LNE=AMI Atz 150,000& = 1CH 128 1,800
O= &l 7,0003 218 25 3,675
202 oddl 35,910 39,330 AN 3,420
01 = LH o4 1l 35,910 39,330 N 3,420
OZHoHI 80,0003 x21H x12& 20,160
O&2 o dl 75,0003 x21H 10 15,750
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH 4,200 4,200 0
ORM2IYRFLHI 350,000& x12& 4,200
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